

19

$$t_1 = 4$$

$$t_{1+(n-1)d} = 208$$

$$t_4 = 41 \Rightarrow t_{1+3d} = 41$$

$$4 + 3(n-1) \cdot 208$$

$$41 - 4 = 21$$

$$V_{(n-1)} = 178$$

$$21 = 3d$$

$$(n-1) \cdot 22$$

$$d = 7$$

$$n = 28$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} = \frac{1}{2}$$

$$10.1, 10.8, 11.5, 12.2$$

$$V_{n+94}$$

$$999 - 94 = 905$$

$$[1, 129]$$

$$129$$

$$a_{14} + a_n = 24$$

$$2a_n + 2d = -2n + 12$$

$$a_2 - a_7 = a_1 + 2d - a_1 - d = -4 \rightarrow d = -2$$

$$a_n + 3d = -2n + 4$$

$$a_2 + a_3 + a_4 = 4 \rightarrow a_1 = 4$$

$$a_n + 2n + 3d = 4$$

$$n(a_1 + 2) + 3d = 4$$

$$a_{14} + a_n = 2a_1 + 23d = 2(4) + 23(-2) = -34$$

$$2^x - 1 + 2^x - 3 = 2^x + 2^x$$

$$1 = 2^x \Rightarrow 2 - x = 0 \Rightarrow x = 2$$

$$\left. \begin{array}{l} 2^x = 1 = 2^0 \\ 2^x + 1 = 1 \\ 2^x - 3 = 13 \end{array} \right\}$$

$$24$$

$$2^x + 2^x - 4 \rightarrow (2^x)(2 + 2) - 4 = 4 \times 2^x \rightarrow 2 - 2^x = 4 \Rightarrow$$

$$t_{11d} - t_{9d} = 2d = 5 \rightarrow d = 2.5$$

$$2t + 20d = 25$$

$$2t + 50 = 25$$

$$2t = -25$$

$$t = -12.5$$

$$t_{11} = t + 10d$$

$$-12.5 + 25 = 12.5$$

$$\frac{1}{r} (r a_1 + (1-r)d) - \frac{d}{r} (r a_1 + (1-r)d) = \frac{d}{r} (r a_1 + (1-r)d) \times r$$

$$r a_1 + d - (d a_1 + r d)$$

$$r a_1 + r d = d a_1 + r d$$

$$r d = d a_1 \Rightarrow \frac{d}{r} = a_1$$

$$\frac{a_1 + d}{a_1} = \frac{\frac{d}{r} + d}{\frac{d}{r}} = \frac{r d}{d} = \boxed{\frac{r}{1-r}}$$

$$\frac{(t_1 + 1d)^r - (t_1 + 1d)^r}{(t_1 + 1d)^r} \quad \frac{(t + r.)^r - (t + r.)^r}{(t + r.)^r} = \frac{t^r + r t^{r-1} + \dots - t^r - r t^{r-1} - \dots}{t^r + r \dots + r t}$$

$$t_1 = t_1 + 1d$$

$$t_1 - t_1 = r d$$

$$r d = 1d$$

$$d = d$$

$$\frac{r.}{t^r + r.} = \boxed{r.}$$

$$\frac{r. t + 1r.}{t^r + r. + r. t} = \frac{r. (t + 1r.)}{t^r + r. (t + r.)}$$

$$r + \sqrt{r} - r + 1r \sqrt{r} = 1r \sqrt{r}$$

$$1r \sqrt{r} = 1r d$$

$$d = \sqrt{r}$$

$$\frac{r r - r}{r n - 1} = \frac{1d}{r n - 1} = d \quad a_n = 11 \Rightarrow r + (n-1) \quad \frac{1d}{r n - 1} = 11 \Rightarrow r = \frac{1d(n-1)}{r n - 1}$$

$$\Rightarrow r (r n - 1) = 1d (n-1) \Rightarrow r n - r = d n - d \Rightarrow r n = d n - r + d \Rightarrow$$

$$n = \frac{d n - r}{r}$$

$$r = r + \frac{1d}{r n - 1} = 11$$

$$\frac{d \times r}{r} = h = h - r$$

$$a_n + a_n + r = a_1 + r a_1 + a_1 + 1r d$$

$$a_n + a_n + r d = r a_1 + 1n d \Rightarrow r a_n + r d = r a_1 + 1n d \Rightarrow a_n + r d = a_1 + d$$

$$a_n = a_1 + d \Rightarrow a_n = a_n \Rightarrow n = n$$

$$a_n = r \times \frac{1}{r} \Rightarrow a_1 + r d = r a_1 + d \Rightarrow r a_1 = -r d \Rightarrow a_1 = -d$$

$$a_n = a_1 + (n-1)d = -d + n d - d = 0$$

$$-r d + n d = 0 \Rightarrow n d = r d = \boxed{r - r}$$